LV.A-60
LV.A-60-AS

ELESA J& 41 % it
X R &4

- WA e B R B EPA) BRSO EAOR R, WER, b,
fg DA B E A fe A

- AERES, EXWHE,

- RHNAETREAN,

LA TR B R A e AR B

- LVA-ASHEL . NBRIEAL70 B KA EAR AFE B A, M fi,
FHROEEMGREARERRT RRFE, WEAXEBR AN &, RF
HEZHEEATHEALT, RESBIAL,

- EHNR (R, £ LE120),

oy

R EEL R AR DT U B P

TR AT WA B EAT, SN2 KA,

KFREFHICRBELEN TERFRN T, ZEHEFL TR
e BTl REEAA, R, TR EXME, KREME RSP,

AFREGTHEBBMVYRE, ERATHRENACFRAER, £
FEesAEFHENRES, #EESFFR, WEEFAAFENRD
AW,

|4

/
24

R B 2 R B S D L L k| d g g#
303121 | LV.A-60-14-M8x43 307121 | LV.A-60-14-AS-M8x43 76 79 M8 43 62 81
303125 | LV.A-60-14-M8x68 307125 | LV.A-60-14-AS-M8x68 60 101 104 33| ms 68 14 14 14000 74 93
303221 | LVA-60-14-M10x43 | 307221 | LV.A-60-14-AS-M10x43 76 79 M10 43 71 90
303225 | LVA-60-14-M10x68 | 307225 | LVA-60-14-AS-M10x68 | 60 101 104 33 | M10 68 14 14 14000 83 102
303231 | LVA-60-14M10x98 | 307231 | LV.A-60-14-AS-M10x98 131 134 M10 98 97 116
303321 | LVA-60-14-M12x43 | 307321 | LVA-60-14-AS-M12x43 76 79 M12 43 81 100
303325 | LVA-60-14-M12x68 | 307325 | LVA-B0-14-AS-M12x68 | 60 101 104 33 | M12 68 14 14 14000 08 117
303331 | LVA-60-14-M12x98 | 307331 | LV.A-60-14-AS-M12x98 131 134 M12 98 119 138
303521 | LVA-60-14-M16x68 | 307521 | LV.A-60-14-AS-M16x68 101 104 M16 68 142 161
303525 | LV.A-60-14-M16x108 | 307525 | LV.A-60-14-AS-M16x108 141 144 M16 108 194 213
303541 | LV.A-60-14-M16x148 | 307541 | LvA60-14-ASM16x148 | €0 181 184 33 | m16 148 14 16 14000 246 265
303561 | LV.A-60-14-M16x168 | 307561 | LV A-60-14-AS-M16x168 201 204 M16 168 272 291
303621 | LVA-60-24-M16x58 | 307621 | LV.A-60-24-AS-M16x58 101 104 M16 58 205 224
303625 | LVA-60-24-M16x98 | 307625 | LV.A-60-24-AS-M16x98 141 144 M16 98 ot ot 1 256 275
303641| LV.A-60-24-M16x138 | 307641 | LVAB0-24-ASM16x138 | €0 181 184 43| M16 138 8000 306 325
303661 | LVA-60-24-M16x158 | 307661 | LVA-60-24-AS-M16x158 201 204 M16 158 333 352
303725 | LVA-60-24-M20x98 | 307725 | LV.A-60-24-AS-M20x98 141 144 M20 98 326 345
303741 | LVA-60-24-M20x138 | 307741 | LVA-60-24-AS-M20x138 181 184 M20 138 405 424
303761 | LVA-60-24-M20x158 | 307761 | LVA60-24-ASM20x158 | €0 201 204 43| M0 158 | 24 24 18000 444 463
303781 | LV.A-60-24-M20x198 | 307781 | LVA-60-24-AS-M20x198 241 244 M20 198 527 546
303825 | LVA-60-24-M24x98 | 307825 | LV.A-60-24-AS-M24x98 141 144 M24 98 424 443
303861 | LVA-60-24-M24x158 | 307861 | LVA-60-24-ASM24x158 | 60 201 204 43 | M4 158 | 24 24 18000 59 615
303881 | LV.A-60-24-M24x198 | 307881 | LV.A-60-24-AS-M24x198 241 244 M24 198 714 733
R ABRARE REREXLREREALT, EnAEREGELOREE, TSI RSN,

# O 2R T B R B

@ Ielemnu'l‘in“ “ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




